940 (K9asy)

R Linearized knot diagam

5 R R

8§ 7 6 2 1 9 5 4 3

/'\

S~

Solving Sequence

3a6 - 479 > 7 1 2 ) 8 C1,C4,C7
A knot diagranﬂ €3 6 Co C2 Cs &

Ideals for irreducible component#ﬂ)f Xpar

I =(b—u, a+1, u* +2u> 4+ 2u? + 1)
Iy = (b—u, 4u®> —6u® +a+3u+6, u* —u® +2u+1)
IY = (u® +3u® + b+ 5u+2, 2u® +3u® + Ta + 3u — 7, u' + 5u® + 120 + 14u 4 7)

(
(b
(w?
IV =(2u® —3u® + b+ 2u+4, a+1, u* —u® +2u+1)
IY={(b—u, a+u—2 u*—u+1)
=0+u+1,a+1, u?> —u+1)
IY = {(b+u+1, 3a+u, u*+3u+3)
IY=(b+u, a+1, u* —u? +u+1>
I =0—-1, v’ —2u® +a+2u, u* —u® +2u+1)
Iy=(u? —2u® +b+2u+1, —u® +u’+a—2, u* —u®+2u+1)

IThe image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter].


http://www.layer8.co.uk/maths/draw/index.htm#Running-draw
https://github.com/CATsTAILs/LinksPainter

(—a® —2a* +b—2a+1, a* +a* —2a+1, u—1)
(b, a+1, u?> —u+1)

Iy = (b—wu, a, u> —u+1)
(
(

e
me
|

b—u, a+1, u> +u+1)
Ly=®+1,a+1, u—-1)

* 16 irreducible components of dim¢ = 0, with total 47 representations.

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI}=(b—u, a+1, u*+2u3+2u?+1)

(i) Arc colorings
az = (
aeg = (
ayq = <
ag = (
—u
ar = \u?+u
ayp = (
ag = (
as = <
—u? —u—1
as = \ud +2u?+u+1
—u? —u—1
ag = \w?+2u?+u+1
(ii) Obstruction class = —1

(iii) Cusp Shapes = 6u? + 6u



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C3,C
103,04 ut —2u® 4+ 2u* + 1
Ce6, C7, Co
C2,Cs, Cs ut — 203 4+ 4u? — 2u+2




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C3,C4 y4+6y2+4y+1
Ce6, C7, Co
4 3 2
c2,C5,C8 Yy +4y” + 12y + 12y + 4




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1(vol + v=1CS)

Cusp shape

u= 0.189785+ 0.6028031
a = —1.00000
b= 0.189785 4 0.6028031

—0.10892 — 1.692251

—0.82541 4 4.989651

u= 0.189785 — 0.6028031
a = —1.00000
b= 10.189785 — 0.6028031

—0.10892 + 1.692251

—0.82541 — 4.989651

uw = —1.18978 + 1.043181
a = —1.00000
b= —1.18978 + 1.043181

—4.0034 + 15.01831

—5.17459 — 8.634881

uw = —1.18978 — 1.043181
a = —1.00000
b= —1.18978 — 1.043181

—4.0034 — 15.01831

—5.17459 +- 8.634881




IL.I1*=({b—u, 4u®>—6u?>+a+3u+6, u* —ud+2u+1
2

(i) Arc colorings

e ()
|
)

4u® + 6u? —3u—6>

ag —
ayq =

ag =
Tud — 12u% + 8u + 8
a7 = w =2 tu+2

(
(v
C
("
. ( 4u® + 6u? —4u—6>
(
(
C

az = \u3 -2 +u+1

4ud — 8u? + 8u +4
2B — 22 +u+2

5u3 + 8u? —4u—8>

—u?+3u—3 )

as =

ag =
—5u + 8u? —4u — 8
as = -1
(ii) Obstruction class = —1

(iii) Cusp Shapes = —12u? + 24u? — 12u — 30



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1, €3, ¢ ut +ud —2u+1
Cg
Cco,C8 (u? +u+1)2
Cy4,Cg ut —5ud + 1202 — 1du + 7
¢ (u? — 2u + 4)*




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C3,C7 y4_y3+6y2_4y+1
cy
Ca,Cs (v* +y+1)?
C4,Cq y* — 3+ 18y% — 28y + 49
% (y* + 4y + 16)?




Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

u = —0.621964 4 0.1877301
a = —1.32516 — 2.809321
b= —0.621964 + 0.1877301

—3.28987 + 6.089651

—12.0000 — 10.39231

u = —0.621964 — 0.1877301
a = —1.32516 + 2.809321
b= —0.621964 — 0.1877301

—3.28987 — 6.089651

—12.0000 4+ 10.39231

1.12196 + 1.053761
a= 0.825159 —0.2112491
1.12196 + 1.053761

—3.28987 — 6.089651

—12.0000 + 10.39231

uw= 112196 — 1.053761
a= 0.825159 + 0.2112491
b= 1.12196 — 1.053761

—3.28987 + 6.089651

—12.0000 — 10.39231
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III1.
I = (ud+3u?+b+5u+2, 2u3+3u?+T7a+3u—7, u*+5u®+12u? + 14u+7)

(i) Arc colorings
1
az = \0
ag =
aq =

ag =

7 7 7
—2u2% — 8u? — 14u — 10
3

%u —&—178u2+372u+3>
3

_ 10,3 _ 36,2 64, _ 5)

a1 =

2,3 4,218,
ZU 7U u—5
az =

2wl + B2 4 Dy 41
as = u? + 4du + 4
—%u?’—%uQ—%u—zl
—ud —6u? —12u—9

—%ug— %uz—%u—él
ag = —ud—6u?—12u—9

(ii) Obstruction class = —1

a7 = (
(iii) Cusp Shapes = —12u? — 48u? — 84u — 66
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(iv) u-Polynomials at the component

u-Polynomials at each crossing

Crossings
c1,C3 ut —b5ud + 1202 — 1du +7
C2 (u? — 2u + 4)*
€4, 8, C7 ut +ud —2u+1
C9
s, C8 (u? +u+1)2

12



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,C3 yt — 9% + 18y% — 28y + 49
© (y* + 4y + 16)?
C4,Cg, C7 y4_y3+6y2_4y+1
cy
C5,C8 (> +y+1)°
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(vi) Complex Volumes and Cusp Shapes

Solutions to I v—1(vol + /—1C5) Cusp shape

u = —1.148400 + 0.6325021
a= 1137350 —0.2911711 | —3.28987 + 6.08965] | —12.0000 — 10.39231
b= 1.12196 — 1.053761

u = —1.148400 — 0.6325021
a= 1137350+ 0.2911711 | —3.28987 — 6.08965] | —12.0000 + 10.39231
b= 1.12196 + 1.053761

u = —1.35160 + 1.498531
a = —0.137346 — 0.291171] | —3.28987 — 6.08965] | —12.0000 + 10.39231
b= —0.621964 — 0.1877301

u = —1.35160 — 1.498531
a = —0.137346 + 0.2911711 | —3.28987 4 6.08965] | —12.0000 — 10.39231
b= —0.621964 + 0.1877301
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IV. I} = (2u® —3u® +b+2u+4, a+1, u* —u®>+2u+1)

(i) Arc colorings

e ()
|
)

ag —
ayq =

ag = 2u3 + 3u? —2u—4>

2u® —3u? +2u+3
ap =

2ud +3u?2 —2u—14
wd —u?+2
w—2u+u+1

wd —2u? +2u+1
2ud + 4u? —2u—3

2ud — 4u? +2u+3>

ag =

as =

(v
(v
(-
ar = (u3—2u +u+2)
(-
(
(-
(

as = —2u? + 3u? — 2
2u3 — 4u? + 2u + 3
as = —2u3 + 3u? — 2
(ii) Obstruction class = —1

(iii) Cusp Shapes = —12u? + 24u? — 12u — 30
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1,€3,C4 ut +ud —2u+1
Ce
C2,Cs (u? +u+1)2
c7,C9 ut —5ud + 120 — 1du+ 7
s (u? — 2u + 4)*

16



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C3,C4 y4_y3+6y2_4y+1
Co
C2, C5 (v* +y+1)?
c7,Co y* — 3+ 18y% — 28y + 49
e (y* + 4y + 16)?
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(vi) Complex Volumes and Cusp Shapes

Solutions to I} v—1(vol + /—1C5) Cusp shape
u = —0.621964 4 0.1877301
a = —1.00000 —3.28987 4 6.089651 | —12.0000 — 10.39231

b= —1.35160 — 1.498531

u = —0.621964 — 0.1877301

a = —1.00000 —3.28987 — 6.089651 | —12.0000 + 10.39231
b= —1.35160 + 1.498531

uw= 112196 + 1.053761

a = —1.00000 —3.28987 — 6.089651 | —12.0000 + 10.39231
b = —1.148400 — 0.6325021

u= 1.12196 — 1.053761

a = —1.00000 —3.28987 + 6.089651 | —12.0000 — 10.39231
b = —1.148400 + 0.6325021

18



V.I!=(b—u,at+u—2, u*—u+1)

(i) Arc colorings
w= ()
- (
-

- (
o= (i)
o
e (
o
(

ag =

e ()

(ii) Obstruction class = —1

(iii) Cusp Shapes = 12u — 6
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossin
Yy
c1,C2,C
17 23 3 u2 + u + 1
C7,C8,C9
c4,Ce u?—3u+3
¢ (u —2)?

20



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C3 y2+y+1
C7,C8, Co
C4,C6 y? =3y +9
€ (y—4)

21



(vi) Complex Volumes and Cusp Shapes

Solutions to I¢

V=1 (vol + y=1CS)

Cusp shape

0.500000 + 0.8660251
1.50000 — 0.866031
0.500000 + 0.8660251

— 6.089651

0. +10.392301

0.500000 — 0.8660251
1.50000 + 0.866031
0.500000 — 0.8660251

6.089651

0. —10.392301
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VLI=({b4+u+1,a+1, u>—u+1)

(i) Arc colorings

w= (o)

= (1)

wm (1)
w= (=)
o= (i)
o= (L)
o= (5)

o= (2 5)
= (1)

o (1)

(ii) Obstruction class = —1

(iii) Cusp Shapes = 12u — 6
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C2,C
1,€62,€3 u2 + u + 1
C4, Cs5, Ce
c7,Co u?—3u+3
s (u —2)?

24



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C3 y2+y+1
C4, Cs5, Ce
€7, €9 y? =3y +9
Ce (y —4)?

25



(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ vV—1(vol +/=1C8S) Cusp shape
uw = 0.500000 + 0.8660251
a = —1.00000 — 6.089651 0. 4 10.392301
b = —1.50000 — 0.866031
uw = 0.500000 — 0.8660251
a = —1.00000 6.089651 0. —10.392301

b = —1.50000 + 0.86603.1
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VIL. I¥ = (b+u+1, 3a+u, u?+ 3u+ 3)

(i) Arc colorings
1
asz = O
ag —
ayq =

ag =

(
(
-~
n- ()
(
(
(
(

%u—f—l
1= \~u-—1
%u+3
ag = 4
tu
as = \u+1
4
as = —u—4
,%U, 2
as = —u—4
(ii) Obstruction class = —1

(iii) Cusp Shapes = —12u — 18
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
2
c1,C3 u®—3u+3
©2 (u—2)?
C4,C5, C
4,05, C6 U2 +ou+ 1
C7,C8, Co

28



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C3 y2 - Sy +9
2 (y —4)°
C4, C5, Ce y2+y+1
C7,C8, Co
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(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ vV—1(vol +/=1C8S) Cusp shape
u = —1.50000 + 0.866031
a = 0.500000 — 0.2886751 6.089651 0. —10.392301
b= 0.500000 — 0.8660251
u = —1.50000 — 0.866031
a = 0.500000 + 0.2886751 — 6.089651 0. 4 10.392301

b= 0.500000 + 0.8660251
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VIIL Iy = (b+wu, a+ 1, u* —u®+u+1)

(i) Arc colorings

w= (o)

ag —
ayq =

ag =

ayp =
ag =

as =

(
(
(
o= (L)
(
(
(
(

ag =
—u?4u—1
ag = 1

(ii) Obstruction class =1

(iii) Cusp Shapes = 3u® — 3u? + 3u — 3
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C4,C7 wtud—u+1
4 2
C2,Cs5,C8 us +u”+2
c3, Cg, Cy wWowdtu+1

32



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C3,C4 y4_y3+4y2_y+1
Ce6, C7, Co
C2,Cs,C8 (y2+y+2)2

33



(vi) Complex Volumes and Cusp Shapes

Solutions to I

V=1(vol + v=1CS)

Cusp shape

u = —0.566121 + 0.45882171
a = —1.00000
b= 0.566121 — 0.4588217

—2.46740 — 5.333491

—4.50000 + 3.968631

u = —0.566121 — 0.4588211
a = —1.00000
b= 10.566121 + 0.4588211

—2.46740 + 5.333491

—4.50000 — 3.968631

u= 1.066120 4 0.8640541
a = —1.00000
b= —1.066120 — 0.8640541

—2.46740 — 5.333491

—4.50000 + 3.968631

u= 1.066120 — 0.8640541
a = —1.00000
b= —1.066120 + 0.8640541

—2.46740 + 5.333491

—4.50000 — 3.968631
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IX. I¥=(b—-1, u* —2u® + a+ 2u, u* —u®> +2u+1)

(i) Arc colorings

w= (o)

ag —
ayqg =

(
(
- (Toloe )
(
(-
e
e

ay =

—u? —|—2u2 —2u — 1)

4u +6u?—3u—=6
az = —ud 4+ 2u? —u—2
23 +3u —2u—3

as = —u3 + 2u?

23 —|—4u —3u—2
ag =

—23 +4u —3u — 2
ag —

(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u?® + 8u? — 4u — 18
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1,€3,C4 ut +ud —2u+1
Ce
Ca, Cs5, C8 (u? +u+1)2
4
C7,Co (u + 1)
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C3,C4 y4_y3+6y2_4y+1
Ce
C2,Cs,C8 (y2+y+1)2
€7, Cy (y—1)*

37



(vi) Complex Volumes and Cusp Shapes

Solutions to I§

V=1(vol + y=1C)

Cusp shape

uw = —0.621964 + 0.1877301

b:

2.12196 — 1.053761
1.00000

—3.28987 + 2.029881

—12.00000 — 3.464101

u = —0.621964 — 0.1877301

2.12196 + 1.053761
1.00000

—3.28987 — 2.029881

—12.00000 + 3.464101

1.12196 + 1.053761
0.378036 — 0.1877301
1.00000

—3.28987 — 2.029881

—12.00000 + 3.464101

1.12196 — 1.053761
0.378036 + 0.1877301
1.00000

—3.28987 + 2.029881

—12.00000 — 3.464101
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X I =(u?—2u?*+b+2u+1, —v>+u*+a—2, u* —ud+2u+1)

(i) Arc colorings

e ()
|
)

wd —u?+2
w+2u? —2u—1

(
(+
(-
o= (st )
(2
(-
("
(

ag —
ayq =

ag =

ay =

2u3—3u +2u+3
wd 4+ 2u? —2u—1
—u3 4+ 2u? — 2u
wd 4+ 2u? —u—2
u3—2u +2u+1
w—uw+u+2

2u3—3u +u+3>

ag =
as =

as = —ud +u? —u

2ud —3ui+u+3
—u3+u2—u

ag —

(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u?® + 8u? — 4u — 18
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1, €3, ¢ ut +ud —2u+1
Cg
Ca, Cs5, C8 (u? +u+1)2
4
Cq,Ce (u =+ 1)

40



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C3,C7 y4_y3+6y2_4y+1
C9
C2,Cs,C8 (y2+y+1)2
¢4, Ce (y—1)*
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(vi) Complex Volumes and Cusp Shapes

Solutions to I

V=1(vol + y=1C)

Cusp shape

uw = —0.621964 + 0.1877301
a= 1.47356 +0.444771
b= 1.12196 — 1.053761

—3.28987 + 2.029881

—12.00000 — 3.464101

u = —0.621964 — 0.1877301
a= 147356 —0.444771
b= 1.12196 + 1.053761

—3.28987 — 2.029881

—12.00000 + 3.464101

w=1.12196 + 1.053761
a = —0.473561 + 0.4447721
b= —-0.621964 — 0.1877301

—3.28987 — 2.029881

—12.00000 + 3.464101

uw= 112196 — 1.053761
a = —0.473561 — 0.4447721
b= —0.621964 + 0.1877301

—3.28987 + 2.029881

—12.00000 — 3.464101
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XL I =(—a®*—2a*+b—2a+1, a*+a®*—-2a+1, u—1)

(i) Arc colorings

e ()
|
|

ag —
ayqg =
a® + 2a? +2a—1>

ag =

ap = a®+2a%+2a—1

)
—a® — 2a* —a+1>
)

az = \ —a? —2a —a+1

—a® — 2a? —a+2)

as = \2a% +3a% +2a — 2

ag =

(
(i
(¢
ar = ( a’ —2a —a+2
(+
(-
(28
-

—a 72a2+1
ag = a

(ii) Obstruction class = —1

(iii) Cusp Shapes = 4a® + 8a? + 4a — 18
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
4
C1,C3 (u =+ 1)
C2,C5,C8 (u? +u+1)?
€4, C6, C7 ut +ud —2u+1
Cg

44



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1,C3 (y—1)*
€2, C5,C8 (V> +y+1)°
C4,Cg, C7 y4fy3+6y2*4y+1
cy

45



Solutions to It

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C)

Cusp shape

1.00000
0.621964 + 0.1877301
1.12196 + 1.05376.1

—3.28987 — 2.029881

—12.00000 + 3.464101

1.00000
0.621964 — 0.1877301
1.12196 — 1.053761

—3.28987 + 2.029881

—12.00000 — 3.464101

1.00000
—1.12196 + 1.053761

—3.28987 + 2.029881

—12.00000 — 3.464101

—0.621964 + 0.1877301

1.00000
—1.12196 — 1.053761
—0.621964 — 0.1877301

—3.28987 — 2.029881 | —12.00000 + 3.464101

> Q2 €|l Q2 €|l & €|l & €
Il
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XIL 1% = (b, a+ 1, u> —u+1)

(i) Arc colorings
1
asz = O
aeg = (
ayq = (
ag = (
—u
ar = U
ay = (
ag = (
as = (
ag = (
—u
asg = U
(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u — 2
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
61762363 u2+u+1
C4,C5,Cp
C7,C9 u2
s u? —u41
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C3
2
C4,Cs5,Cq Y +y+1
Cs
2
C7,C9 Y
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(vi) Complex Volumes and Cusp Shapes

Solutions to I} V—1(vol +/=1CS) Cusp shape
u = 0.500000 + 0.8660251
a = —1.00000 — 2.029881 0.+ 3.464101
b= 0
u = 0.500000 — 0.8660251
a = —1.00000 2.0298871 0. —3.464101
b= 0
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XIIL. I, = (b—u, a, u*> —u+1)

(i) Arc colorings
1
asz = 0
ag —
ayq =

ag =

(
(
(
o= (o
(
(
(
(

a1 =
1
a2 = \uy—1
1
a5 = \u—1
—u
as = \u+1
—u
as = \u+1
(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u — 2
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C2,C3 U2+U+1
C7,C8, Co
Cy4,Cp u2
] u? —u41
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C3
2
C5,C7,C8 Y +y+1
cy
2
Cq,Cp Y
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(vi) Complex Volumes and Cusp Shapes

Solutions to I{4 V—1(vol + /—1CS) Cusp shape

u = 0.500000 + 0.8660251
a= 0 — 2.029881 0.+ 3.464101
b= 0.500000 + 0.8660251

u = 0.500000 — 0.8660251
a= 0 2.029881 0. —3.464101
b= 0.500000 — 0.8660251

54



XIV. Iy, =(b—u, a+1, u* + u+1)

(i) Arc colorings
o ()
o
=
o
o
o= ()
o
o=
=

(

ag —
(ii) Obstruction class = —1

(iii) Cusp Shapes =3
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C3,C
1,C3,C4 U2 —u+1
Ce6, C7, Co
2
C2,Cs5,Cg8 (U—l)
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C3,C4 y2+y+1
Ce6, C7, Co
2
C2,Cs5,Cg8 (y_l)
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(vi) Complex Volumes and Cusp Shapes

Solutions to I74 VvV—1(vol + /—1CS) Cusp shape
u = —0.500000 + 0.8660251
a = —1.00000 3.28987 3.00000

b = —0.500000 + 0.8660251

u = —0.500000 — 0.8660251
a = —1.00000 3.28987 3.00000
b = —0.500000 — 0.8660251
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XV. I}, =(b+1,a+1, u—-1)

(i) Arc colorings
1
asz = 0
ag — (
ayq = (
ag = (
-1
a7 = 0
0
a1 =
as = (
as = (
ag = (
-1
ag = \ -1
(ii) Obstruction class =1

(iii) Cusp Shapes = —12
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1, C4, C7 u+1
C2,Cs5,C8 U
3, Cg, C9 u—1
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C3,C4 y— 1
Ce6, C7, Co
€2,C5,C8 Y
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(vi) Complex Volumes and Cusp Shapes

Solutions to It V—1(vol ++/—=1CS) Cusp shape
u = 1.00000
a = —1.00000 —3.28987 —12.0000
b = —1.00000
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XVL I? = (a, b* —b+1, v — 1)

(i) Arc colorings
1
asz = O
ag — (
ayq = (
ag = (
1
a7 = \b-1
ay = (
ag = (
as = (
ag = (
—b
ag = \ b
(ii) Obstruction class = —1

(iii) Cusp Shapes = 4b — 2
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossin
Yy
C1,C3 u2
€2 u? —u41
C4,Cs5, C
4, C5, C6 U2 +ou+ 1
C7,C8,C9

64



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
2
C1,C3 Yy
C2,C4,C5
2
Ce,C7,C8 Y +y+1
cy
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(vi) Complex Volumes and Cusp Shapes

Solutions to I} V—1(vol +/—1CS) Cusp shape
v = 1.00000
a 0 — 2.029881 0.+ 3.464101
b= 0.500000 + 0.8660257
v = 1.00000
a 0 2.0298871 0. — 3.464101
b= 0.500000 — 0.8660257
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XVII. u-Polynomials

Crossings u-Polynomials at each crossing

w?(u+1)5(u? = 3u+3)(u® —u+ 1) (u® +u+ 1)

C1,Cq,C7

b St = 5ut 4= Hu 4 T) (u? = 20 + 20 + D) (ut Fud - 2u 1)1

St ud —u 1)

¢3, s, Cg u(u —2)*(u — 1)*(u® = 2u +4)%(u? —u+ 1) (u® +u + 1) (u* +u® 4 2)
S(ut = 2u 4 4u? — 2u + 2)
w(u—1)(u+ D)*u? = 3u+3)(u? —u+1)(u® +u+1)*

€3,C6,Co

S(ut = 5ud 4 12u® — 14w+ 7)(ut — 203 + 20 + D)(ut —ud +u+1)
S(ut +ud - 2u+1)*
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Crossings

XVIII. Riley Polynomials

Riley Polynomials at each crossing

C1,C3,C4

Ce,C7, C9

V(y— 1% -3y +9) (> +y+1)°(y* +6y> + 4y + 1)
W= A -y D -+ 6y — 4y +1)?
Syt =y + 18y% — 28y + 49)

C2,Cs,Cg

y(y— 9@ — 1@ +y+ D@ +y+2)(y* + 4y + 16)°
Syt 4 P 1292 + 12y + 4)
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